
Question #32217 

A convex mirror has a radius of 20cm. An object is placed 30 cm in front of  

the mirror. Determine where the image will appear? 

Solution: 

The position of the image defined according to the Gaussian mirror equation 
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where 

 𝒅𝟎 is the object distance 

 𝒅𝒊 is the image distance 

 𝒇  is the focal length 

 𝒅𝒊 =
𝒇𝒅𝟎

𝒅𝟎−𝒇
 

The focal length is defined by the following formula: 

 𝒇 =
𝑹

𝟐
 where R is the radius of the mirror: 

 𝒅𝒊 =
𝑹𝒅𝟎

𝟐𝒅𝟎−𝑹
 

 𝒅𝒊 =
𝟐𝟎∗𝟑𝟎

𝟐∗𝟑𝟎−𝟐𝟎
= 𝟏𝟓 𝒄𝒎 

Answer: 15 cm. 
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